KEREHRIZOT

£E TRI1EE
BRI  IBF/IRSAHEITH
kel EHE LIRS AT FF /IR 100FHh 1
% & ®E B B {7 2 £ {E B 7 & R
4R 5R | 6R 7R 8H | 9A 10A 11A|12A| 1R 2R | 3R
BRIzEE mS/m - 120 120| 110 11.0 11.0 12.0 10| 10| 120
EBiemaA mg/2 - 150 | 100 | 120 14.0 12.0 10.0 10| 96| 100
T ILFEILIKER mg/2 BHINGNIE - - - - - - THEH - - - - -
HAIKER mg/2 0.0005L1F - - - - - - 0.0005 k| — - - - -
HREH L mg/% 0.01LTF - - - - - - 0.0003 K| — - - - -
Eid) mg/2 0.01LLF - - - - - - 0002 k| — - - - -
bax(izA=PN mg/2 0.05LLF — — — — — — 002 k| — — — — —
it mg/2 0.01LLF - - - - - - 0001 k| — - - - -
2TV mg/2 BHINGNIE - - - - - - TEH - - - - -
RUEETz=Z)L mg/2 BHIhANIE - - - - - - T - - - - -
w (FUYBERIFLY mg/2 0.03LLF — - - — — — 0002 K| — — — — —
T |Fr3o00TFLY mg/2 0.01LLF - - - - - - 0.0005 k| — - - - -
;}E SHOOAgy mg/2 0.02LLF - - - - - - 0.002 k| — - - - -
B |iEiE R mg/2 0.0024F - - - - - - 0.0002 k| — — — — —
# [12-ooonTs me/0 0.04LLF - - - - - - 00004 k| — — — — —
T [-vynaIFLy me/2 0IMTF| - - | - - | -1 - 0002k — | - | = | = | —
R |vAR-12-UHoaTFLy mg/2 0.04LLF - — — - — — 0.004 K| — - - - -
~ -rysonzay mg/2 1T — — — — — — 0.0005 k| — — — — —
1,12-r)oOOTEY mg/8 0.006 A F — — — - — - 0.0006 k| — — — — —
13->/nn7axky mg/2 0.002LLF - - - - — - 0.0002 &| — - - - -
FI5 L mg/8 0.006 A F — — — - — - 0.0006 k| — - - - -
RO mg/2 0.003AF - - - - - - 0.0003 k| — — — — —
FARUALT mg/2 0.02LLF - - - - - - 0.002 k| — - - - -
_uty mg/2 0.01LLF - - - - - - 0001 k| — — — — —
Ly mg/8 001LLF - - - - - - 0002 k| — — — — —
14-SH %4> mg/2 0.05L0F - - - - - - 0005 &| — — — — —
BiEEZLE/Y— mg/2 0.002LL T - - - - — - 0.0002 k| — - - - -
AAF X8 pg-TEQ/2 1T — — — — — — — — — — —
BERIGEE mS/m - 140 | 140 130 120 | 130 120 130 150 [ 150 | 16.0
LA mg/2 - 150 | 150| 150 160 | 150 | 140 15.0 150 | 160 | 140
T ILFEILIKER mg/2 BHShiZLIE — - - - — — T = - - - -
k4R mg/ 0.0005L1F - - - - - - 0.0005 k| — — — - -
HRED L mg/8 001 - - - - — — 0.0003 k| — - - - -
Fial mg/Q 0.01LLTF - - - - — - 0002 &| — - - - -
ANES DL mg/8 0.05L1F - - - - — — 002 k| — - - - -
ft* mg/2 001U F - - - — - - 0001 k| — — — — -
®ITY mg/8 BRHEIhBNIE — — — - - - T - - - - -
RUEETzZ)L mg/2 BHShANIE - - - - - - Tt - - - - -
w [F7OOIFLY mg/8 0.03LLF — - - - — — 0002 k| — - - - -
T |FrS7onFLY mg/2 0.01LLF - - - - — - 0.0005 k| — = = = =
;’; sHOOray mg/8 0.02LLF - - - - — — 0002 k| — - - - -
B | s R mg/2 0.0024F - - - - — — 0.0002 k| — — — — —
#* [12-Cyonzay me/0 0.04LLF - - - - - - 00004 k| — - - - -
T [L-vyEnzFLY me/2 0.1LLTF - - - - - - 0002 k| — — — — —
R N2-oyonzFLy mg/2 0.04LLF - - - - - - 0.004 k| — - - - -
~ -rysonzsy me/2 1T — — — — — — 0.0005 k| — — — — —
1,12-k)onoxTiay mg/2 0.006 A F - - - - - - 0.0006 k| — - - - -
1,3->oyoo7oRy me/2 0.0024F - - - - - - 0.0002 k| — — — — —
F 5L mg/2 0.006 A F - - - - - - 0.0006 k| — - - - -
DE O mg/2 0.003LLF - - - - — - 0.0003 k| — = = = =
FARUALT mg/2 0.02LLF - - - - - - 0002 k| — - - - -
oty me/2 001 F - - - — - - 0001 k| — — — — —
L mg/2 0.01LF - - - - - - 0002 k| — - - - -
14-SH %4> mg/2 0.05L0F - - - — - - 0005 k| — — — — —
EitEZLE/Y— mg/2 0.002LL T - - - - — - 0.0002 k| — - - - -
HAAFL 8 pe-TEQ/2 WUF| - - | - - | - - -l -1 -1-1=




KEAFVIRERH) - 58L1 E86LLT 77| 17 7.7 7.7 78 78| 17

EYIEFHBRERSEBOD) | mg/L 60LLT 1.1 23| 05% 14 28| 14| 13

LZHEERZRE(CODMN) | mg/Q 90LLTF 78| 6.7 6.7 45 5.2 45 43

FAEYEE(SS) mg/2 60LLT|  1.03Ki| 1.0k | 1.0k 3 2 3 (105K

TILFILKERIEEY mg/Q BHINAGNIE TEH| — - - — T — — — — —
fg%%ﬁﬁg};’mﬁ%m me/2 000511 F |0.00055%k3%| — | — - | - o005 % — | — | = | = | -
ARSIV LRUZDIEEY mg/Q 0.1LLF| 0001KiH| — - - - 0.001 k| — - - - -
MRUVZDILED mg/2 0.1LLF| 00055k — — - — 0005 &| — - - - —
AHBEEY mg/Q 1UTF 01K — - - - 0.1 k| — - - - -
AEiTA LAY mg/Q 05 F| 005K — - - - 005 X| — - - - -
MRERVZOILEEY mg/Q 0.1LLF| 0005Ki#| — - - - 0.005 k| — - - - -
ST ALEY mg/Q 1T 01K — - - - 01 k| — - - - -
RUEEETZ= )L mg/2 0.003LAF | 0.0005K#| — - - - 0.0005 k| — - - - -
r)yoOTFLY mg/2 03LLF| 0002KiH| — - - - 0.002 k| — — — — —
FhSoOaTFLY mg/2 0.1LLF| 0.00055%#| — - - - 0.0005 k| — — — — —
Sonarey mg/2 02LLF| 0002KiE| — — - - 0.002 k| — - - - -
migib k3R mg/2 00250 F | 0.00025k%| — - - - 00002 k| — — — — —
12->ynnIiay mg/Q 0.04LLF| 0.00045K#| — - - - 0.0004 x| — — — — —
11->ynooTFLy mg/2 1LAF| 0.0025%i#E| — - - - 0002 ®| — — — — —
LR-1,2-UHRRIFLY mg/2 04LLTF| 0004KiEH| — — - - 0.004 k| — - - - -
111-kyyonTay mg/2 3LLTF| 0.00055Ki#| — - - - 0.0005 &| — — — — —
1,12-r)oOOTAEY mg/Q 0.06 LA F | 0.0006k| — — - — 0.0006 *| — — — - -
13-ynnraxky mg/2 0.02LAF | 0.00025k#%| — - - - 0.0002 %&| — — — — —
F 5L mg/2 0.06 LA F | 0.0006k%| — — - — 0.0006 *| — — — — -
RO mg/2 0.03LLTF | 0.0003kK#| — - - - 00003 k| — — — — —
FARUAILT mg/2 02T | 0002KiE| — — - - 0.002 k| — - - - -
RyEY mg/2 0.1LLF| 0001KiH| — - - - 0001 k| — — — — —
LU RUZDIEEY mg/2 0.1LLF| 0.0055kiH| — - - - 0.005 &| — - - - -
14-CF %4> mg/2 05K 0013 — - - - 0.007 — — — — —
[FSHRRVEZDIEEY mg/Q 504 03| — — — — 02k| — — - - -
SORRUZDILED mg/2 15| 008k — — - - 008 k| — - - - -
BB ATE o | me/? 200LLF A - | - 13 -l -1 -1-1-
AN Ll ) SUT| oSkl — | — - | - 5%l - | - | = | = | -
%’é&ﬁ;ﬂggg% g)a me/2 30U T 070 | — - - - 05 — - =1 =1 =
Jz/—IVEEEE mg/2 5LITF| 002K — - — - 002 & — - - - -
fHetE mg/% 3UT| 003k — - - - 0.03 k| — — — — —
HINEHE mg/2 2| 002K — - — - 002 & — - - - -
RREKEEE mg/2 10LLF| 002k — — — - 0.12 - - - - -
BREMTUAVERE mg/Q 10LLTF| 002K — - — - 0.27 — - - - -
JOLEHRE mg/2 2| 002K — - - - 002 k| — — — — —
KIGE B {&/cm3 | BREIF153,000ELL T 60| — — — — 14 — - - — —
=RAEE me/t | (am EFM‘GZOOQ%_; 720 | 850 | 5.40 120 120 13| 13

HwaREE me/2 o m‘ﬁf_; 0004 — | — - | - 0.005 - - =] =1 =
HAFF 8 pe-TEQ/2 10LLF — — — — - - - — — — —

X1 HAEEL, —REEVORBELSBZRUVEERENORENSZITRIBM EORELEEDDERL [FIFF LV ERNBEEEIRVIT(FFOUHITLD
RKEDER KEADFRHCKEDEBENDFEESL, ) RULTEDFRICRIRELEITLD,

X2 TRHShAGWNIE, 1&F - REZVOKELIBRUVEXEZEVOZKELSBITRIBM LOREZFDLETI(BNE+_F=A+ERAKEN -EEET
E—B)EZFOREITEIERBERENEDDIHEICIUBRELILERIIBV T, TORENLRIREF EOEERFAETEDIEED,

R, EHEGOTVSEA XKEFRILDH KA



